TEERILE BB T 109 REEFE-BHE-REE \FREEN FREXS

=T (8357 0 $£309))

HEeR -

BESR : A

* FrE & RN EEIEREA 457 %

1 2. (1) 2Q) 2(3) 3
4 5(1) 50 6 7
=~518ERE Gt 104)) *xESTHEBESE > A FPstaok
1 69 2 4




1CERIIE BT 109 BEEE—EBHE —RESE J(FHRBER X
— IS (-3 0 L e04)
1 2 3 4 5 6 7 9 10
C A B A D C B D A C
11 12 13 14 15 16 17 18 19 20
D A B C B B C A B D
" ETE (K834 3£309)) xFrEEENMRERIEGEA 4T x
1 2 22 203) 3
5 5
t S 4+247-3J2 | 5-26 943
4 5Q) 52 6 7
12
? (x=D(x+4) | (3x-8)(3x+8) 3 5
= B (Gt104y)  kESTEIBREE 0 A TR X
1 64 2 @5
(1) GrEEEEEIMDIELSR  BT4557)
o L. 900-400=500
o3 (&3 450+750=1200
V5002 +12002 (2 4%)
" 1300
(2) HEHHi38115
B 19m 14 Z 1300 K (k44

e

AN

% 13819

LN

(3 77)




